S4 Computing Science Homework

Software Design and Development

Exam Revision 2
1.
In order to make code readable programmers should include internal commentary
2

in their code. Describe two other methods of making code more readable.
2.
The following code creates a random number between 1 and 50.
2



Let number = INT (50 * RND) + 1


RND produces a random number between 0 and 1.

INT rounds to the nearest integer.


State the type of construct that RND and INT belong to.
3.
State the data type that you should use to store the value of an average score.
1
4.
State the most suitable data structure and data type required for storing 100 test
2

marks in a computer program.
5.
The following pseudocode has been written to find the team with the most points.

Line 1.  SET teams TO [Edinburgh, London, Berlin, Paris]


Line 2.  SET points TO [47, 27, 51, 51]

Line 3.  SET highest TO 1

Line 4.  FOR position FROM 2 TO 4

Line 5. 
IF points [highest] < points [position] THEN

Line 6. 

SET highest TO position

Line 7. 
END IF

Line 8.  END FOR

Line 9.  SEND [“The winning team is “] team [highest] TO display


(a) State the output from the above pseudocode.
1


(b)
Describe the logic error that this program has.
1

(c)
The first time the program was coded and run, line 7 had a syntax error.
1


What could have been the problem?


(d)
Describe what changes you would require to make to the pseudocode to find
3


the team with the lowest score.


(e)
Describe the changes you would require to make to the pseudocode if there are
3


eight teams rather than four.

6.
The following is a price list for concerts depending on age.

· Under 18 - £5

· Between 18 and 27 - £10

· Over 27 - £20


Using pseudocode or a programming language of your choice, write a short program
4

to output the correct ticket cost depending on the user’s age.
